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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2600

2400

2200 -

2000 -

Warning: col ['ECC’, 'FVIEC'] is missing

10

15

20

25




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-9 0
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Warning: col ['M_E’] missing
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P3-9

BfiE) | GEBIATK (7)) | EME (EA/HK) | XK R

06:55 240 90.0 = {RRiB006:55 Fzh (FRFAEEE)
07:55 240 90.0 E 1BRi&e07:55 Fzh (RAEREE)
08:55 240 90.0 = {Ri%@08:55 F (KRFAEDSE)
10:05 240 90.0 =l {Ri%@10:05 F31 (RAERSE)
11:25 240 90.0 = RRiBe11:25 Fz (REAKEE)
12:45 240 90.0 5| 1Ri%e12:45 F CGREAMEREE)
14:10 240 90.0 5 Ri%014:10 F3) CGRAERKSE)
15:40 240 90.0 5| 1Ri%e15:40 F5 (REAEREE)
23t1]1920.0 (8%) 720.0 328033 %EC: 2080.0, PH: 6.0

FEREHLEB 2 S TEIERTF (156

.0

: 106.0), AIREHT—%E X145

EORGEBIRTC (240) 5748 (205. 0) A FF, AIREH T % @R #EiRS %2 XiER

BRIASERRERE106. 0 ml.
BE X i# B ECE 1R k.

FEREEBEC (2590.0) 5i&EEC (2000.0) RERKX, BHE

RER B HEREC/PHEERK, AT

A=A
BEFS

M AR R SR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=22 (2025-04-24)

804 VI, VO, FRV, ET = V|, VO, FVI, FVO, FRV, ad jFRV, ET 936 |- 1000
60 o2 700 Booe 750 T
490 39 =
40 - F500 <=
80 =
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0 Warning: lcol [FVI',| "FVO’'] missing
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OO s o o S /S o o o o =
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0.6
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.0 N
0.6
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Warning: lcol ['PHB’,| 'PHC’'] missing
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m=515, FV0=0 m=605, FV0=0 m=665, FV0=0
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39 - 32 - 34 - —&— ME
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m=725,m FV0=0 m=785,m FV0=0 m=845,m FV0=0 m
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T T T T T T T T T T T T T T
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515 520 525 605 610 615 665 670 675 725 730 735
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P3-9

BfiE) | BRI (FD) | EE (EH/AR) | XK R

09:10 180 60.0 5| 1Ri&e09:10 Fz (REAEES)
10:05 180 60.0 E| {Ri1g@10:05 Fzh (REERSE)
11:05 180 60.0 S {Ri%e11:05 Fzh (RAERSE)
12:05 180 60.0 = RRiB@12:05 Fzh (RFAKEE)
13:05 180 60. 0 | 1Ri&e13:05 Fz (KREAERES)
14:05 180 60.0 S| {Ri%e14:05 F3h (RAERSE)
15:10 180 60.0 |Z=| {Ri%e15:10 Fz1 (REZBE)
2it|1260.0 (70%) 420.0 3EGHKEC: 1900.0, PH: 5.9

FEREHERE STEELRF (117.0

BRIASLFRGERE77.0 ml.
BE X i# B ECE 1R k.

77.0), AIRERT—RE XA H45
EORGEBIRTC (180) 57 HA (140. 0) A FF, AIaEH T % @R #EiRS %2 XiEMT

FEREEBEC (2535.0) 5i&EEC (2000.0) RERK, BHE

RER BB HEREC/PHEERK, FTRESS

M AR R SR




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=21 (2025-04-23)

60

40 -
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VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 702
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70
400
‘0 | Warning: lcol [FVI',| "FVO’'] missing
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100 -

50 -
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FRV
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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o
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m=515, FV0=0 m=605, FV0=0 m=665, FV0=0

364 —8— ME - ME 34.5 - 35.5
34.0
34.0 3501
35 4
33.5 - 235 34.5 -
34 1 53,0 34.0
33.0 - '
33.5 -
33 1 32.5 -
32.5 - 33.0 1
321 3201 —o— WME —o— ME
= 32.5 -
T T T T T T T T T T T T T T
500 600 700 800 900 515 520 525 605 610 615 665 670 675
m=725,m FV0=0 m=785,m FV0=0 m=845,m FV0=0 m
36.0 - 30
35.5
36.0 - —o— MW
35.5 -
35.0 - 35.5 - i
35.0 - 29
35.0 -
34.5 34.5
34.5 - 28
34.0 -
34.0 -
34.0 -
33 5 . 27 a
33.5 - 33.5 -
33 0 - —e— ME —o— ME —o— ME
T T T T T T T T T T T T T T
725 730 735 785 790 795 845 850 855 500 600 700 800 900
m=515,m FV0=0 m=605,m FV0=0 m=665,m FV0=0 m=725,m FV0=0
27.754 —— MW 27.754 —— MW 28.254 —@— MW 03,50 1 —@— MW
27.50 27.50 - 28. 00 - 28. 25 A
27. 25 - 27.25 4 27.75 7 28. 00 -
27.00 4 27.00 4 21.50 1 27.75 1
97. 25 -
26. 75 26. 75 27. 50 +
97.00
26. 50 - 26. 50 - 27.25 +
T T T T T T 26 75 B T T T T T T
515 520 525 605 610 615 665 670 675 725 730 735
m:785,m FVO0=0 m:845,m FV0=0 m m
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28.5 -
97.5 - - M
785 790 795 845 850 855



